

Παρατηρούμε ότι

$$\begin{aligned} \frac{1 - \sin x}{\eta\mu^3 x} &= \lim_{x \rightarrow 0} \frac{1 - \sin x}{\eta\mu^2 x \cdot \eta\mu x} = \frac{1 - \sin x}{(1 - \sin^2 x) \cdot \eta\mu x} = \frac{\cancel{1 - \sin x}}{(1 - \cancel{\sin x}) \cdot (1 + \sin x) \eta\mu x} = \\ &= \frac{1}{(1 + \sin x) \eta\mu x} \end{aligned}$$

Επομένως

$$\boxed{\lim_{x \rightarrow 0^+} \frac{1 - \sin x}{\eta\mu^3 x}} = \lim_{x \rightarrow 0^+} \frac{1}{(1 + \sin x) \eta\mu x} = \lim_{x \rightarrow 0^+} \frac{1}{1 + \sin x} \cdot \lim_{x \rightarrow 0^+} \frac{1}{\eta\mu x} = \frac{1}{1 + 0} \cdot (+\infty) = \boxed{+\infty}$$

και

$$\boxed{\lim_{x \rightarrow 0^-} \frac{1 - \sin x}{\eta\mu^3 x}} = \lim_{x \rightarrow 0^-} \frac{1}{(1 + \sin x) \eta\mu x} = \lim_{x \rightarrow 0^-} \frac{1}{1 + \sin x} \cdot \lim_{x \rightarrow 0^-} \frac{1}{\eta\mu x} = \frac{1}{1 + 0} \cdot (-\infty) = \boxed{-\infty}$$

Άρα το $\lim_{x \rightarrow 0} \frac{1 - \sin x}{\eta\mu^3 x}$ δεν υπάρχει